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REPEAT:
(gA 1) --If the cycle-time has expired, ¥ ¥ FE5S ARG ZH )& Ro|Zo] dsle] &8] 3k */
thendo; C=C+1;
Get Nunused (j) from WWR Assistant;
set Cadmitted(i,j) = Cadmitted(i,j) + Nadmitted(i,j) for all (i,));
set Crejected(i,j) = Crejected(i,j) + Nrejected(i,j) for all (i,j);
set Nadmitted(i,j) = 0 for all (i,j); set Nrejected(i,j} = 0 for all (i,));
set Nsharable(j) = Nexcess(3) + Nunused(j) for all (j);
end;
(24 2) --Get a packet;
If the packet's SYN bit is OFF
then do: let the packet pass through; go to REPEAT; end;
TP A& 238 g2/
Find its index (i,j);

(G4 3) --If Nadmitted(i,j) < Nmin(i,j) /* 8 4 SLAZ Batgic) */
then do: set Nadmitted(i,j) = Nadmitted(i,j) + 1;
let the packet pass through;
go to REPEAT;
end;
(A 4) --If (Nadmitted(i,j) > Nmin(i,j) & (Nadmitted(i,j) < Nmax(i,j)) & (Nsharable(j) > 0)

*aAo] s1&d F vt/

then do; set Nadmitted(i,j) = Nadmitted(i,j) + 1; Set Nsharable(j} = Nsharable(j) - 1;
let the packet pass through;
go to REPEAT;

end;

8ol 7Adsolof g}

else do; set Nrejected(i,j) = Nrejected(i,j) + 1;

forward the packet to WWR Guide;

go to REPEAT,;

end;
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set Nunused(j) = 0 for ail (j);
If the mode of operation is "not borrowing" then return;
/7| E B2 Rev) zgrew su, mEls BE jo| tsle] Nunused(j)E AAME 227} gl
For every (j) and for every (i),

If Nadmitted(4,j) < Nmin(i,j) then set Nunused(j) = Nunused(j) + (Nmin(i,j) — Nadmitied(i,j));
For every (j), Nunused(j) = Nunused(j) * Unused Permit F actor(j);
return;

17
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ARl 7127 APl B ¥ darel ¥

REPEAT:
(g4 D --- If the cycle-time has expired, /+* W5 E A Asto R
thendo; C=C +1; & Aol 2o dis] & st/
set Cadmitted(i,j) = Cadmitted(i,j) + Nadmittedq(i,j) for all (ij);
set Crejected(i,j) = Crejected(i,j) + Nrejected(i,j) for all {i,j);
set Nadmitted(i,j) = 0 for all (i,j); set Nrejected(i,j) = 0 for all (i,j};
end;
(A 2) -—-Get a packet;

If the packet's SYN bit is OFF
then do: let the packet pass through; go to REPEAT; end;
*TCP 4 44E vhgvh vy
(A 3) ---Find its index (i,j);
If Nadmitted(i,j) < Ntarget(i,j
/8742 WohE I
then do; set Nadmitted(i,j) = Nadmitted(i,j) + 1;
let the packet pass through:;
go to REPEAT;
end;
FoRE ARe} v
else do;  set Nrejected(i,j) = Nrejected(i,j) + 1;
forward the packet to WWR Guide:
go to REPEAT;
end;

18 -



2002-0068270

4

/*Ntarget(i,j) & Abech+/
-~ Do the following for every application class j;
If ((Nrejected(i,j) = 0) om0 AdE Aol ghgkr} /+ oo alola
& (Nadmitted(ij) <= Nmax(ij)) overalli  /*olm e SLA 9% 494 okh, o714 <= AAL &2 dujgt v
then go to STOP;
COMPUTE_TARGETS:
- Let Ntarget(i,j) = Nadmitted(i,j) + Nrejected (ij) for all i; _
Ooﬂ%zﬁmzanm_@w /* 0] u_iA y":o?_ﬁ )= 2E il giste] Ntotal(i, j)9 Folch#
For every (i,j) such that Ntarget(i,j) > Nmax(i,j) re7t A E 2HE v/
first set Ntotal(j) = Ntotal(j) — (Ntarget(i,j) — Nmax(i,j)); % o8 2HWAG ¥ )
And then set Ntarget(i,j) = Nmax(i,j); a7t AYAE 293811 5 dck/
If Ntotal(j) <= Nlimit(i,j) then go to STOP;
/*Z} Ntarget(i,j)¥ Nmax(i,j) v wto.z 449 Bar} iy
- Let Nexceeded(j) be the sum of (Ntarget(i,j) — Nmin(i,j)) over those i such that Ntarget(i,j) > Nmin(i,j);
If the-mode-of-operation is “non borrowing" then set Nsharable(J) = Nexcess(j):
If the-mode-of-operation is "borrowing" then compute Nunused(j) and set Nsharable(j) = Nexcess(j) +
Nunused(j) * Unused_Permit_Factor(j);
7 gl %MLW Ae 39 @mwmvwvm_vl. a2y, $4 99 Z1zd do] dAl FPE FE Utk
For every i such that Ntarget(i,j) > Nmin(ij)
Set Ntarget(i,j) = Nmin(i,j) + (Ntarget(i,j) - Nmin(i,j)) * ( Nsharable(j) / Nexceeded(j));
else set Ntarget(i,j) = Nmax(i,j);
-— STOP:
End;

5
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